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[bookmark: _GoBack]Badger Class Maths home learning
Year 5
Week 3 - Maths – Multiplication and Division
For our Maths home learning, we are following the White Rose Maths. This is the same resource we use in school. For each lesson there is a helpful 10 minute video to provide home learning support before the worksheets. 
1 - Watch the Video Lesson for That Day
[image: ]Click this https://whiterosemaths.com/homelearning/year-5/week-1-number-multiplication-division/  to go to the White Rose website and watch the 10 minute support video for that lesson before doing the worksheets:
Monday		Multiply 2-digits by 1-digit
Tuesday		Multiply 3-digits by 1-digit
Wednesday		Multiply 4-digits by 1-digit
Thursday		Multiply 2-digits (area model)
Friday		Multiply 2-digits (area model)

Have a go at the questions with the video on a piece of paper or in a book. Pause or rewind the video as often as you need to answer the questions as you go along. 
2 - Complete the Worksheets after the Video Lesson
[image: ]There are two worksheets a front and a back (just like we do in class). The questions get trickier towards the end. Just do your best and have a go at the questions. Re-watch the video lesson if you need a reminder of the method. 
Write answers down on a piece of paper or in an exercise book (remember to number the answers). You can collect a paper printouts of this learning pack from the school office if that’s better for you to write your answers on.
3 - Send Me Your Work So I Can Mark It
Once you have finished send your work to me so I can have a look, mark it and get it back to you with feedback. 

How can you get your work to me?
· Take a photo of your work and email it to badgerclass@parkside.kent.sch.uk  
· Drop it off at the office  when you collect your next home learning pack

Times Tables 
Remember to practise your times tables for 10 minutes every day. 
This website is good to practise at home by yourself https://www.timestables.co.uk/ 
Mr King  

Monday		Multiply 2-digits by 1-digit (sheet 1)
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Monday		Multiply 2-digits by 1-digit (sheet 2)
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Tuesday		Multiply 3-digits by 1-digit (sheet 1)
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Tuesday		Multiply 3-digits by 1-digit (sheet 2)
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Wednesday		Multiply 4-digits by 1-digit (sheet 1)
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Wednesday		Multiply 4-digits by 1-digit (sheet 2)
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 Thursday		Multiply 2-digits (area model)  (sheet 1)
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Thursday		Multiply 2-digits (area model)  (sheet 1)
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Friday		Multiply 2-digits (area model)  (sheet 1)
[image: ]

Friday		Multiply 2-digits (area model)  (sheet 1)
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Multiply 2-digits by 1-digit @ @ rosie works out 4 x 37 using o written method.
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@ 5rett uses o place value chart to work out 5 x 32 120 (@lo/x|a
148
) Talk about Rosie’s method with a partner.
o Use Rosie’s method to work out 6 x 28
Talk about Brett's method with a partner. @
Complete the multiplication.
Sx32m @ oani uses o different written method to work out 8 x 42
Use Brett's method to work out 6 x 34 Q HT
6x34=

>
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Use Dani's method to work out 3 x 27 0 29x8= P
@ se o written method to complete the multplications.
@) 38x6= 9 45x9= ° Class 4 s selling tickets for a play.
Tickets cost £5 per person.

56 tickets have been sold so far.
How much money has Class 4 collected?

b) 71x3=

(@ Fosie buys 8 bunches of flowers. Each bunch has 17 flowers.
How many flowers does she have altogether?
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uses a place value chart to help him multiply

a 3-digit number by a 1-digit number.

@) What multiplication is Filip working out?

x

b) What is the answer to Filip's multiplication?

Use place value counters to complete the multiplications.

a)3x213=

b) 4 x216=

€ 5x106=

d) 6 x 106 =

€ 4x209=

f) 317x3=

L]

© complete the multiplication.
Use the place value chart o help you.
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©) 3 x 240 f 7x131

© A torry driver travels 156 km per doy.

How many kilometres will the lorry driver have travelled
after 3 days?

@ Ron ond Teddy are working out 5 x 245

T know the answer
will be greater than
1,000 because I know
5 x 200 is 1,000

1 know the answer
should end in 5 because I
know 5 x 5 is 25

@) Who is correct? Circle your answer.

Ron Teddy both neither

©

b) Use a written method to work out 5 x 245

There are 7 year groups in a school.
There are 112 children in each year group.

How many children are there in the whole school?

A banana weighs 140 g
A pineapple weighs 345 g

Bag A contains 8 bananas and bag B contains 3 pineapples.

Which bag weighs more and by how much?
Show your working.

8ag weighs g more than bag .
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its by 1-digit

o Complete the sentences to describe the multiplication.

[~ [T - .

There are ones altogether.
There are tens altogether.
There are hundreds altogether.
There are thousands altogether.
2213x3=

@ complete the mutipication.
Use the place value chart to help you.

[ TR

K@

° A football stadium holds 2,214 people.
The stadium is full for 4 matches in a row.
What was the attendance for all 4 matches?

‘The attendance for all 4 matches was.

@ wioh is calculating 2,430 x 3
She makes this place value chart to help her.

She gets the answer 729
What mistake has Nijoh made?

What is the correct answer?
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© complete the muttplications.
@) 3,126 x3=

) 4132x6=

b) 4812x2

© ron s working out 7,423 x 0

Do you agree with Ron?

Did Ron have to use a column method? s there a quicker way?

@ Work out these mutipications.

2846x2=

2846 x4 =

-

7 4 23
x 0
= |5 @)

What do you notice about the answers?

)

Without using the formal method, how could you use this fact to
calculate 248 x 97

Check your answer using the formal method.

Which method wos easier?

©  se coch digit card once to write a multiplcation.

1 2 3 a 5

How many different products can you find?

What is the closest product to 8,0007
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Multiply 2-digits (area model) o Amir is using base 10 to calculate 31 x 24

@) Add the missing information to the area model and complete
the sentences.

o Kim is using base 10 to work out 31 x 22

Use Kim's model to help you complete the sentences.

20 2
e —

8
8 T CrTTTTTTY errrTrTTTT X
8 TS TS T |
® crrTTTTTTTS CrrrTTTTTTY crrrrrrTD| @

There are ones altogether.
There are tens altogether.
' There are hundreds altogether.
There are ones altogether. b) Describe any exchanges you need to make.
There are tens altogether.
There are hundreds altogether.
) Complete the multiplication.
3Nx22= 3Nx2=
Use base 10 to work out these multiplcations.
@ Use bose 10 to work out the multiplcations. Q o ultplicats
@ 12x14= b 2x13= @ 25x15 b) 36x 12
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©  se the place value counters to complete the multiplication grid O »- - 768
and sentence.

00000000 x| = s x

©0 000000 »

©0000000

©0/000000 2

00000000

00 |
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Complete the area model to find the missing number.

©0/000|«

8
x

2=

@ se on orea model to help you complete the multplication. Q
a) 28x14= € 3/x2=
x| » s
©  se coch digit card once to write @ multiplcation.
0
2((3||a]|s
4
b) 27 x 16 = d) 45 x 36 = * =

How many different answers con you find?

How many products are there between 1,000 and 1,5007

@ complete the muttpiications.

21x24= 3N x25=

texaes _
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Multiply 2-digits (area model)

o Kim is using base 10 to work out 31 x 22

Use Kim's model to help you complete the sentences.

20 2
e —

8
8 T CrTTTTTTY errrTrTTTT X
8 TS TS T |
® crrTTTTTTTS CrrrTTTTTTY crrrrrrTD| @

There are ones altogether.
There are tens altogether.
There are hundreds altogether.
3122

©  Use base 10 to work out the multiplications. Q
o) 12x1a= b 23x13=

o Amir is using base 10 to calculate 31 x 24

@) Add the missing information to the area model and complete

the sentences.

There are

There are

There are

ones altogether.

tens altogether.

hundreds altogether.

b) Describe any exchanges you need to make.

<« Complete
Nx2=

the multiplication.

@  Use base 10 to work out these multiplications.

@) 25x15=

b) 36x12=
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©  se the place value counters to complete the multiplication grid O »- - 768
and sentence.

Complete the area model to find the missing number.

x|00/000000 x| s "
000000000 »
000000000
000000000 2
000000000
000000000
26x32=
L]
@ se on orea model to help you complete the multplication. Q .
@) 28x14= 9 3x2-= .
x| » s
©  se coch digit card once to write @ multiplcation.
0
2((3||a]|s
4
b) 27x 16 = d)45x36= * =

How many different answers con you find?

How many products are there between 1,000 and 1,5007

@ complete the muttpiications.

21x24= 3N x25=

18x26=
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11 and 12 times-table € Rosie is spotting patterns in the 11 times-table.

When 1 add together
the digis of each multiple
of 11, I always get
an even number

© e o 10 epresems 2111 ®

| I ) Do you agree with Rosie?
[] L] 2xm=2

Explain your answer.

Use base 10 to work out 3 x 11

Draw your base 10 ond complete the multiplication. Q

b) What else do you notice?
‘What other patterns can you see in the 11 times-table?
Talk about it with a partner.

1x1|.|:|

© Crovons come in ks of 12
Q Dora buys 5 packs of crayons.

efofofofal

How many crayons does she have?

© compiete the calculations.
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